CHM151 Quiz7b 25 Pts Fall2005 Name: < e
SHOW ALL WORK. g

1. (6 Pts) When 45.0 g of an alloy at 100.0 °C is dropped into 100.0 g of water at 25.0 °C, the final temperature is
37.0 °C. What is the specific heat of the alloy? (Specific Heat of Water = 4.18 J/g'K)

e

So HE tnits - I So6 Pind Cac. Guantily
s g f) ) y
ﬂﬁ;"’“"' s AT nes T ey Alloy = /L/Q“' G 15 e d) 6‘] /75
Ve “ - y s
~ o L) J s —— Loyl
For Hyo o H48T 100,09/ 1208 _ ~ .~ Lo /]/)m - 2016
s e T oAl =Spp v Ly

7 / -’
2. (6Pts) The heats of formation, A H? in in the table. What is AH in kJ for the reaction

2CyH; + 50,50 - 4C0Oq@) + 2H0) AH= ?

Compound AHfo kJ/mole
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3. {7 Pts) What is the standard enthalpy of combustion of CoHg in kJ-mol~1?
(So g CHE) +720:9) > 20048) + 3HO()
Thermochemical Data
1. Hyg+ 12050 - H,00 AHO= 286 kJ
2. CiHa + Ha@ — CoHg@ AHO= —137kJ
3. CyHyp + 30, — 2C0y() + 2H00 AHO=—1412 kJ
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4. (6 Pts) Given the equation: 250, + Ox@) = 2803) AH = ~200kJ _w /J/L N Y
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Calculate the value of AH when 45 grams of SOs(g) are formed. (molar masses S = 32.06, O = 16.00) Aol 9%
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